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ATTHE END OFSECOND SEMESTER (CBCSPATTERN) 

DEGREE EXAMINATIONS 

COMMERCE-FINANCIAL ACCOUNTING 

UG PROGRAM (4 YEARS HONORS) 

(COMMON FOR B.Com.(TAXATION AND 

ACCOUNTING), 
B.Com.(GENERAL),B.Com.(COMPUTER 

APPLICATIONS)) 
(w.e.f. Admitted Batch 2020-21) 

Time:3 Hours Maximum: 75 Marks 

SECTION-A 

Answer any Five of the following questions. (5x5-25) 

1. Straight Line Method. 

2 Secret Reserve 

3. Trade Bil1 

[Turm over 
12000 



(2) 21-BC221/21-BC241/21-BC251] 

A. Account Sales. 

Joint Venture. 5. 

6. Concept of Depreciation 

7. General and Specific Reserve. 

8. Promissory Note 

SECTION-B 

(5x10-50) Answer FlVE questions. 

9. a) Discuss the merits and demerits of straight line 

method of calculating depreciation. 
9. 

(OR/e) 
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On 1 January 2012 a machine was purchased for b) 
50,000. On 31" December 2014 one-half of the 

machine was sold for 12,000 as it became useless. 

On the same day a new machine was purchased for 

20,000 and installed. The machinery was to be 

depreciated at 10% per annum on 31st December 

every year on fixed instalment system. Prepare 

machinery account for 4 years. 

2012 es8 13 as dsol 50,000 o 5soe 

RoP. 2014 &ooo 313 olso6* $Keprreð 

20,000 e% 5%hfo 5 bo6. K® KoIu &Roa 

31 PoMaPO sgI KsEo diolgro 10% sórbse 

10. a) What are their merits and demerits of secret 

reserves. 

6xBes B@rere, oh@rerw asdoso. 

(OR/dor) 

(Turn over 
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The following relevant information is extracted b) 
from the Trial Balance on 31st March 2015 bad debts 

8,000 provision for bad debts 6,000 Sundry debtors 

2,04,000. During the year additional bad debts were 

4000 and provision for bad debts to be made at 5% 

on debtors. Pass necessary Journal entries. 

31.03.2015 soscr sot Bod órbo ee8sA. 

DP se 8,000, w arse Q 6,000, D aveolpev 

2,04,000. és so etss: oPd erdev 4,000. oP rdo 

Poo. 

11. a) Define a bill of exchange. Give its essentials. 

D0d dey oosot. eeoma* swsrgoare» sdosot 

(OR/d) 

b) Kumar sold goods for 5,000 on January 1st,2015 to 

Swamy and drew a bill for 3 months for the same. 

On due data Swamy failed to meet the bill and 
requested to renew the bill for another 3 months 

together with interest at 10% per annum. On due 
date of the new bill Swamy honoured it. Pass journal 
entries in the books of both parties. 
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July 1,2015 $5 s5353o sg8s <E»Ebero 
1,00,000 asows $85 (esev $5 75,000) 
oe559 08 so pono 3bso 10,000/- ev 

3ot. r03/4 so Ksber 1,20,000/-e ey 
pone 15,000 e 3go0rt. s8 ys°o b 5% 

13. a) Define Joint venture. Different methods used to 

record joint venture transactions. 

(OR/s) 
Anil and Sunil were partners in a Joint venture b) 
sharing profits and losses in the proportion of 4/5 

and 1/5 respectively. Anil and Sunil have 
contributed 5,000 and 3,000 respectively and 
deposited in a Joint bank account. They purchased 
goods, for 6,000 and spent 1,000 for expenses. 
Sunil supplied goods for 2,000 and spent 500 
expenses. They sold goods for 20,000 and unsold 

goods are valued at 3,000 and taken by Sunil, Joint 

venture is closed and amounts due are settled. Show 
ledger accounts. 
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sage sso 4/5, 1/5 has sosodrs aró 

s6»s 5,000 so6 c 3,000 68»a) aán
T 

6,000 eE S° 1,000 dye 3go3. d5 2000 

20,000 eb esyro». esyso s Kósi 3,000 e 

esoagros rbo8. 
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ATTHEENDOFSECOND SEMESTER(CBCS PATTERN) 

DEGREE EXAMINATIONS 

COMMERCE -BUSINESS ECONOMICS-II 

(FOR B.Com. (GENERAL)) 

(w.e.f Admitted Batch 2015-2016) 

Time: 3 Hours Maximum: 75 Marks 

SECTION-A 

Dersa-

Answer any FIVE of the followinig. (5x5-25) 

1. Minimisation of cost. 

Cobb Douglas production function. 2. 

3. Perfect competition. 

4. Defects of Monopoly. . 

5000 [Turn over 
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5. Oligopoly features. 

6. National Income. 

esodbo. 

7. Trade cycles. 

Sse». 
8. Liberalisation. 

SECTION -B 

(5x10-50) Answer ALLquestions. 

9 Explain various types of economies of large scale a) 
of production. 

58oiá. 

(OR/so) 
b)How do you attain maximisation of profit. 

10. a) Explain profit maximising output in short run and a) 
long run? Under perfect competion. 

(OR/do) 
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What is Monopoly? Explain profit maximizing b) 
output in long run. 

Explain the theory of Marginal productivity of 

Distribution. 
11. a) 

(OR/do) 
b) What is monopolistic competition? Explain short b) 

period equilibrium price. 

58osoa. 

12. a) Explain the features and advantages of socialism. 

(OR/so) 
Explain different concepts ofnational income. b) 

13. a) What are the functions of WTO0? 

WTO e Tebod 

(OR/6o-) 

Explain the benefits of International Trade. 
b) 

woéèdi» adeaso s@reros sdosod. 
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